
SAP ABAP table T5V2G {Connection org. numbers and  rep. org. number}

T5V2G

CLIENT [CLNT (3)]

ORGBE [NUMC (11)]

ENDDA [DATS (8)]

NACE [CHAR (6)]

ORGJU [NUMC (11)]

REPNR [NUMC (11)]

MUNICC [CHAR (4)]

ARBGID [CHAR (8)]

PEAVDID [CHAR (8)]

BUAREA [CHAR (8)]

ORGLED [NUMC (11)]

T000

MANDT [CLNT (3)]

 T5V2G-CLIENT = T000-MANDT 
0..N

1

T536A

MANDT [CLNT (3)]

ANART [CHAR (2)]

VARGU [CHAR (8)]

SEQNU [CHAR (1)]

 T5V2G-ARBGID = T536A-VARGU 
0..N

1

 T5V2G-PEAVDID = T536A-VARGU 0..N

1

T5V2A

MUNIC [CHAR (4)]

ENDDA [DATS (8)] T5V2G-MUNICC = T5V2A-MUNIC 0..N

1

T5V2I

CLIENT [CLNT (3)]

REPNR [NUMC (11)]
 T5V2G-REPNR = T5V2I-REPNR 

0..N

1

T5V2J

CLIENT [CLNT (3)]

NACE [CHAR (6)]

ENDDA [DATS (8)]

 T5V2G-NACE = T5V2J-NACE 

0..N

1

T5V2L

CLIENT [CLNT (3)]

ORGBE [NUMC (11)]

 T5V2G-ORGBE = T5V2L-ORGBE 

0..N

1

T5V2M

CLIENT [CLNT (3)]

ORGJU [NUMC (11)]

 T5V2G-ORGJU = T5V2M-ORGJU 

0..N

1

T5V2O

MANDT [CLNT (3)]

ORGLED [NUMC (11)]

 T5V2G-ORGLED = T5V2O-ORGLED 

0..N

0..N

T5V6A

MANDT [CLNT (3)]

BUAREA [CHAR (8)]

 T5V2G-BUAREA = T5V6A-BUAREA 

0..N

1


